
    
Mathematics Department  03/21/2013 
Difference of Squares 
𝐴2 − 𝐵2 = (𝐴 + 𝐵)(𝐴 − 𝐵) 
Sum of Cubes 
𝐴3 + 𝐵3 = (𝐴 + 𝐵)(𝐴2 − 𝐴𝐵 + 𝐵2) 
Difference of Cubes 
𝐴3 − 𝐵3 = (𝐴 − 𝐵)(𝐴2 + 𝐴𝐵 + 𝐵2) 
Slope 

𝑚 =
𝑦1 − 𝑦2
𝑥1 − 𝑥2

 

Slope Intercept 

𝑦 = 𝑚𝑥 + 𝑏 

Point Slope 

𝑦 − 𝑦1 = 𝑚(𝑥 − 𝑥1) 

Two Point 

𝑦 − 𝑦1 =
𝑦1 − 𝑦2
𝑥1 − 𝑥2

(𝑥 − 𝑥1) 

Distance  

𝑑 =  �(𝑥1 − 𝑥2)2 + (𝑦1 − 𝑦2)2 

mid = �
𝑥1 + 𝑥2

2
,
𝑦1 + 𝑦2

2
� 

Domain 

𝑓(𝑥) =  √𝐴𝑥 + 𝐵      𝑠𝑒𝑡 𝐴𝑥 + 𝐵 ≥ 0 

Quadratic Formula 

𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0  

𝑎 =  ____  𝑏 =  ____ 𝑐 =  ____ 

𝑥 =
−𝑏 ± √𝑏2 − 4𝑎𝑐

2𝑎
 

𝑖2 = −1       √−1  = 𝑖 

𝑎 ≠ 0         𝑎0 = 1      
0
𝑎

= 0     

𝑎
0

= 𝑢𝑛𝑑𝑒𝑓𝑖𝑛𝑒𝑑   
0
0

= 𝑖𝑛𝑑𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑡𝑒 

 

Absolute Value 

|𝑥| = 𝑎       𝑥 = −𝑎    𝑜𝑟    𝑥 = 𝑎  

|𝑥| < 𝑎    − 𝑎 < 𝑥 < 𝑎 

|𝑥| > 𝑎      𝑥 < −𝑎    𝑜𝑟    𝑥 > 𝑎  

 

Vertex 

𝑀𝑖𝑛
𝑀𝑎𝑥 = �−

𝑏
2𝑎

,𝑓 �−
𝑏

2𝑎
�� 

Average Rate of Change   

  𝑥 = 𝐴  𝑡𝑜 𝑥 = 𝐵 

𝑓(𝐵) − 𝑓(𝐴)
𝐵 − 𝐴

   

Compounded Continuous 

(Population)  𝐴 = 𝑃𝑒𝑟𝑡 

Compounded Monthly/Daily 

𝐴 = 𝑃 �1 +
𝑟
𝑁
�
𝑁𝑡

 

Half Life 

𝐴 = 𝑃 �
1
2
�
𝑡
𝑁

 

Composites 
(𝑓 − 𝑔)(𝑥) = 𝑓(𝑥) − 𝑔(𝑥) 

(𝑓 + 𝑔)(𝑥) = 𝑓(𝑥) + 𝑔(𝑥) 

(𝑓𝑔) = 𝑓(𝑥) ∗ 𝑔(𝑥) 

�
𝑓
𝑔
� (𝑥) =

𝑓(𝑥)
𝑔(𝑥) 

(𝑓 𝑜  𝑔)(𝑥) = 𝑓(𝑔(𝑥)) 

(𝑔 𝑜 𝑓)(𝑥) = 𝑔(𝑓(𝑥)) 

Difference Quotient 

𝑓(𝑥+ℎ)−𝑓(𝑥)
ℎ

 

 

Rules of ln/log 

ln(𝐴) + ln(𝐵) = ln(𝐴𝐵) 

ln(𝐴) − ln(𝐵) = ln �
𝐴
𝐵
� 

ln(𝐴𝑁) = 𝑁 ln(𝐴) 

ln(𝑒) = 1 

ln(1) = 0 

ln(𝐴) = ln(𝐵)   𝑡ℎ𝑒𝑛 𝐴 = 𝐵 

Change of Base 

log𝑏(𝐴) =
ln(𝐴)
ln(𝑏) 

log𝑏(𝑏) = 1 

log𝑏(𝑦) = 𝑥     𝑡ℎ𝑒𝑛    𝑏𝑥 = 𝑦 

𝐴𝑥 = 𝐴𝑦        𝑡ℎ𝑒𝑛      𝑥 = 𝑦 

If    log𝑏(𝐴𝑥 + 𝐵) = log𝑏(𝐶𝑥 + 𝐷) 

then    (𝐴𝑥 + 𝐵) = (𝐶𝑥 + 𝐷) 

Same base power rule 

If 𝑏𝐴𝑥+𝐵 = 𝑏𝐶𝑥+𝐷    

then 𝐴𝑥 + 𝐵 = 𝐶𝑥 + 𝐷 

If        log𝑏(𝐴𝑥 + 𝐵) = 𝐶 

then    𝑏𝑐 = 𝐴𝑥 + 𝐵 

Domain 

𝑓(𝑥) = log(𝐴𝑥 + 𝐵)      

𝑠𝑒𝑡 𝐴𝑥 + 𝐵 > 0 

Circle Formula 

(𝑥 − 𝑎)2 + (𝑦 − 𝑏)2 = 𝑟2;   

Center(𝑎, 𝑏);   Radius = 𝑟 
 


